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SECTION A
(Scan and upload) (5Qx 4M = 20 Marks)
Marks | COs
Q1 Find the differential equation for the equation (x — a)? + y? = a?,
where a is an arbitrary constant. Also find the order of differentiall [4] Co1
equation.
Q2  [Solve the differential equation xyp? + p(3x? — 2y?) — 6xy = 0 for p.
Here p stands for Z—i’. [4] | CO2
Q3 Find the complete solution of the following differential equation:
d?x 3 dx oy = oSt [4] Cos3
ez Cdt rTE
Q4  Solve for x = f(z) in the following simultaneous equations
dx by = g2 dx N dy
dz S TY=75 2T X Tyl [4] CO4
Q5 [Classify the following partial differential equation
0%u 0%u 0%u
@ 22ﬁ+42x6t+3ﬁ_ 0 [4] CcO5
07u 207w _
(b) oz € oz 0
SECTION B
(Scan and upload) (4Qx10M = 40 Marks)
Q1  |Show that the differential equation of a curve a?x? + 2abxy + b%y? +
. d? (d2y -2/3
29 +2fy+c=0is=—{22 7 =0 [10] |cO1
Q2 [Solve the following exact differential equation:
1 1 1
<y+§y3 +§x2) dx+Z(x+xy2)dy =0 [10] CO2
Q3 Obtain the solution for the following differential equation for y CO?2
— 2 _ dy [10]
y = yp* + 2px, where p = —




Q4

Find the complete solution of 2(z + px + qy) = yp? where p = Z—i and
0z
=
OR

Solve x(x? + SyZ)z—i —y(3x? + yZ)Z—; = 2z(y? — x?).

[10]

CO5

SECTION-C
(Scan and upload) (2Qx

20M= 40 Marks)

Q1A

Solve the following simultaneous equations:
D?x—3x—4y=0, D?y+x+y=0
D stands for %

[10]

CO4

Q1B

Solve:

y?z(x cosx — sinx)dx + x%z(y cosy — siny)dy
+ xy(ysinx + xsiny + xy cosz)dz = 0

[10]

CO4

Q2A

Use Variation of parameter method to solve the following differential
equation
(D? + 1y = _t _p=4
1+ sinx’ dx
OR
Obtain the complete solution of differential equation

d
(D? + 2)z = t?e3t cos 2t,D = T

[10]

CO3

Q2B

i - ion 2 LY 4y ady 3. _
Solve the differential equation x =t 2x =t 3 Iy =xt 1
OR

Find the solution of differential equation (D? — 1)y = 1, which
vanishes when x = 0 and tends to a finite limit as x — oo and D stands

d
for —.
dx

[10]

CO3




